Cg Exponenter pé 10

namn. Datum: Poiing:
3,4+10= 2,77+ 10° =
10° = 10° =
2% 10° = 5% 10° =
10° = 6,76+ 10° =
6,35 x 10* = 5% 103 =
2% 10° = 4% 10° =
2x10= 10° =
10° = 1,83 x 10> =
7,59 + 10" = 1x10° =
4x10= g8 x 10° =
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Exponenter pé 10

namn:

3,4+10=0.34
10° = 1000

2 x 10° = 200000

10° = 1000

6,35 x 10* = 635

2 x 10° = 200000

2% 10=20

10°> = 100000

7,59 = 10* = 0.000759

4x10 =40

Datum:

2,77+ 10° = 0.00277
10° = 1000000

5% 10% = 5000

6,76 = 10° = 0.00676
5x10° = 5000

4 % 10° = 400000

10° = 1000000

1,83 x 10> = 183

1 x 10* = 1000

§x 10" =8
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Poéng:
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